Find this product without a graphing calculator.
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Find the value of each variable
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Display the following data in a matrix. Label the rows and columns.

West High School enroliment by grade:
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Regardless of dimensions, to solve the following matrix

equation: A : X _ B

You will always find matrix X by doing the following:
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Solve this matrix equation. this is one method /W%Q%MW here is another method
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Solve each system of equations. State solutions as
orderd pairs or triples. If using matrices write down
4x+9 =11

the two matrices you used.
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